

Farkas JZ (2004) Stability conditions for the non-linear McKendrick equations, *Applied Mathematics and Computation*, 156 (3), pp. 771-777.

**This is the peer reviewed version of this article**

*NOTICE: this is the author's version of a work that was accepted for publication in Applied Mathematics and Computation. Changes resulting from the publishing process, such as peer review, editing, corrections, structural formatting, and other quality control mechanisms may not be reflected in this document. Changes may have been made to this work since it was submitted for publication. A definitive version was subsequently published in Applied Mathematics and Computation, [VOL 156, ISS 3 (2004)] DOI: <http://dx.doi.org/10.1016/j.amc.2003.06.019>*

# Stability condition for the nonlinear McKendrick equation \*

Jozsef Z. Farkas<sup>†</sup>

Department of Differential Equations  
Budapest University of Technology and Economics  
Budapest H-1521, Hungary

## Abstract

Nonlinear McKendrick equation with age-dependent mortality and fertility is considered. In [1] the author deduced the characteristic equation whose roots determine the stability. We are able to give sufficient conditions for the stability of the stationary solutions of the system in some cases.

*Keywords:* Age-structured population dynamics; Stability

## 1 Introduction

Non-linear age-dependent models have a recent history. Many biological phenomena can be modelled better by non-linear differential equations. Age-specific mortality and fertility are among the most basic parameters of the

---

\*2000 MSC: 92D25, 47D06, 35B35

<sup>†</sup>E-mail: farkas@math.bme.hu

theory of population dynamics and demography. In the present paper we shall consider the following McKendrick-type equation [2],[5] .

$$\frac{\partial p(t, a)}{\partial t} + \frac{\partial p(t, a)}{\partial a} = -\mu(a, P(t))p(t, a) \quad (1.1)$$

$$p(0, a) := p_0(a),$$

where  $p(t, a)$  denotes the density of individuals of age  $a$  at time  $t$ ,

$$P(t) = \int_0^M p(t, a) da \quad (1.2)$$

is the quantity of the total population at time  $t$ ;  $\mu(a, P(t))$  denotes the intrinsic mortality and  $\beta(a, P(t))$  the fertility.

The density of newborns at time  $t$  is given by

$$p(t, 0) = \int_0^M \beta(a, P(t))p(t, a)da. \quad (1.3)$$

We assume a finite maximal age denoted by  $M$ .

This type of models has a wide literature. There exists results about stability in special cases. In [4] Sect. IV an Allee-logistic model is treated where the main assumption is that the mortality does not depend on the size of the population, and a factorization property for the fertility rate  $\beta(a, P(t))$  is assumed. In the next section we will be able to give sufficient condition for stability under the same assumptions.

Our motivation is that the characteristic equation deduced by the author in [1] seems to be very useful deciding stability as an example in [1] presented first by Gurtin and MacCamy in [3] shows.

## 2 $\mu$ does not depend on $P(t)$

Recall the characteristic equation corresponding to the stationary solution of (1.1)-(1.3),  $p_1(a) = p_1(0)e^{-\int_0^a \mu(s, P_1)ds}$  from [1]

$$K(\lambda) = A_{11}(\lambda)A_{22}(\lambda) - A_{12}(\lambda)A_{21}(\lambda) + A_{12}(\lambda) + A_{21}(\lambda) = 1$$

where

$$A_{11}(\lambda) = \int_0^M e^{-\lambda a} e^{-\int_0^a \mu(s, P_1) ds} da,$$

$$A_{12}(\lambda) = -p_1(0) \int_0^M e^{-\lambda a} e^{-\int_0^a \mu(s, P_1) ds} \left( \int_0^a \mu'_P(s, P_1) e^{\lambda s} ds \right) da,$$

$$A_{21}(\lambda) = \int_0^M e^{-\lambda a} \beta(a, P_1) e^{-\int_0^a \mu(s, P_1) ds} da,$$

$$A_{22}(\lambda) = p_1(0) \left( \int_0^M \beta'_P(a, P_1) e^{-\int_0^a \mu(s, P_1) ds} da - \int_0^M e^{-\lambda a} \beta(a, P_1) e^{-\int_0^a \mu(s, P_1) ds} \int_0^a \mu'_P(s, P_1) e^{\lambda s} ds da \right)$$

where  $P_1 = \int_0^M p_1(a) da$  is the quantity of the total population.

Recall the following notations:

$$\pi(a, P(t)) = e^{-\int_0^a \mu(s, P(t)) ds}, R(P(t)) = \int_0^M \beta(a, P(t)) \pi(a, P(t)) da$$

where the second term denotes the so called net reproductive number and  $R(P_1) = 1$  at any stationary solution, obviously.

Now suppose that  $\mu(a, P(t)) = m(a)$  and  $\beta(a, P(t)) = b(a)f(P)$  where  $b(\cdot), m(\cdot), f(\cdot) \in C^1$ .

**Theorem 1.** The characteristic equation  $K(\lambda) = 1$  for any stationary solution  $p_1(a)$  is stable if and only if  $R'(P_1) < 0$ .

**Proof.** Under the assumptions for the vital rates above the characteristic equation reduces to the following

$$\int_0^M e^{-\lambda a} \pi(a) \beta(a, P_1) da + \int_0^M e^{-\lambda a} \pi(a) da \int_0^M \beta'_P(a, P_1) p_1(0) \pi(a) da = 1$$

and

$$\int_0^M \beta'_P(a, P_1) p_1(0) \pi(a) da = \int_0^M f'(P_1) p_1(0) b(a) \pi(a) da.$$

For any stationary solution

$$\int_0^M \beta(a, P_1) \pi(a) da = \int_0^M f(P_1) b(a) \pi(a) da = 1,$$

and with

$$p_1(0) = \frac{P_1}{\int_0^M \pi(a) da}$$

we get

$$K(\lambda) = 1 = \int_0^M e^{-\lambda a} \pi(a) b(a) f(P_1) da + \int_0^M e^{-\lambda a} \pi(a) da \frac{P_1}{\int_0^M \pi(a) da} \frac{f'(P_1)}{f(P_1)}.$$

Now suppose that  $f'(P_1) > 0$  holds. Then it is easy to see that for the characteristic equation  $K(\lambda)$

$$\lim_{\lambda \rightarrow -\infty} K(\lambda) = +\infty \quad \lim_{\lambda \rightarrow +\infty} K(\lambda) = 0$$

and  $K(\lambda)$  is a strictly monotone decreasing function of  $\lambda$ , so there exists exactly one real  $\lambda$  for which  $K(\lambda) = 1$  holds. Now we are going to show that  $\lambda \geq 0$  holds. Contrary, suppose that  $\lambda < 0$ . Then for every  $a \in [0, M]$  we have  $e^{-\lambda a} \geq 1$ . Then

$$\int_0^M e^{-\lambda a} \pi(a) b(a) f(P_1) da > \int_0^M \pi(a) b(a) f(P_1) da = 1,$$

and

$$\int_0^M e^{-\lambda a} P_1 \frac{\pi(a)}{\int_0^M \pi(a) da} \frac{f'(P_1)}{f(P_1)} da > 0.$$

This shows that  $K(\lambda) > 1$  for every  $\lambda < 0$ .

On the other hand if  $f'(P_1) < 0$  then suppose that there exists a solution  $\lambda = x + iy$  with  $x \geq 0$ . Then the characteristic equation assumes the form

$$1 = Re(K(\lambda)) = \int_0^M e^{-xa} \cos(ya) \pi(a) b(a) f(P_1) da \\ + \int_0^M e^{-xa} \cos(ya) \pi(a) da \frac{P_1}{\int_0^M \pi(a) da} \frac{f'(P_1)}{f(P_1)}$$

and  $Im(K(\lambda)) = 0$ .

If  $x \geq 0$  then  $e^{-xa} \leq 1$  and  $|\cos(ya)| \leq 1$ , so that

$$Re(K(\lambda)) \leq \int_0^M \pi(a) b(a) f(P_1) da + P_1 \frac{f'(P_1)}{f(P_1)} \leq 1 + P_1 \frac{f'(P_1)}{f(P_1)} < 1,$$

a contradiction.

Finally observe that  $R'(P_1) < 0 \iff f'(P_1) < 0$  because  $R(P) = \int_0^M b(a) f(P) \pi(a) da$ . ■

This result is in accordance with the example of Gurtin-MacCamy (see [1],[3]), because now  $m'(P) \equiv 0$  and  $-\beta'(P_1) > 0 \iff f'(P_1) < 0$ .

### 3 $\mu$ does depend on $P$

Now suppose the following vital rates, both of them depending on  $P$

$$\beta(a, P) = b(a) f(P), \quad \mu(a, P).$$

The characteristic equation is

$$K(\lambda) = A_{11}(\lambda) A_{22}(\lambda) - A_{12}(\lambda) A_{21}(\lambda) + A_{12}(\lambda) + A_{21}(\lambda) = 1,$$

where now

$$A_{11}(\lambda) = \int_0^M e^{-\lambda a} \pi(a, P_1) da,$$

$$A_{12}(\lambda) = -p_1(0) \int_0^M e^{-\lambda a} \pi(a, P_1) \int_0^a \mu'_P(s, P_1) e^{\lambda s} ds da$$

$$A_{21}(\lambda) = \int_0^M e^{-\lambda a} \beta(a, P_1) \pi(a, P_1) da$$

$$A_{22}(\lambda) = p_1(0) \left( \int_0^M \beta'_P(a, P_1) \pi(a, P_1) da - \int_0^M e^{-\lambda a} \beta(a, P_1) \int_0^a \mu'_P(s, P_1) e^{\lambda s} ds \pi(a, P_1) da \right).$$

**Theorem 2.** The stationary solution  $p_1(a)$  corresponding to the population quantity  $P_1$  is asymptotically stable if  $f'(P_1) < 0$  and  $\mu'_P(., P_1) > 0$ .

**Remark.** We are to prove that under the conditions above the characteristic equation cannot have roots with positive or zero real part, and we refer to [4] Th.I.5.1, where it is proven that if there exist a root with positive real part then there exists a real positive root, too.

**Proof.** We are going to prove that under the conditions for the vital rates for any real  $\lambda \geq 0$  we have  $K(\lambda) < 1$ .

Observe that  $A_{21}(\lambda) \leq 1 \iff \lambda \geq 0$ , so it is enough to prove

$$A_{11}(\lambda)A_{22}(\lambda) - A_{12}(\lambda)A_{21}(\lambda) + A_{12}(\lambda) < 0$$

or

$$-A_{11}(\lambda)A_{22}(\lambda) - A_{12}(\lambda) > -A_{12}(\lambda)A_{21}(\lambda). \quad (3.1)$$

Simplifying the first term of  $A_{22}(\lambda)$  we get:

$$A_{22}(\lambda) = p_1(0) \left( \frac{f'(P_1)}{f(P_1)} - \int_0^M e^{-\lambda a} b(a) f(P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds \pi(a, P_1) da \right).$$

Now we are going to substitute the  $A_{ij}(\lambda)$  into the inequality (3.1):

$$\begin{aligned}
& -\frac{f'(P_1)}{f(P_1)}p_1(0) \int_0^M e^{-\lambda a} \pi(a, P_1) da + \\
& + p_1(0) \int_0^M e^{-\lambda a} \pi(a, P_1) da \left( \int_0^M e^{-\lambda a} b(a) f(P_1) \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da \right) + \\
& + p_1(0) \int_0^M e^{-\lambda a} \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da > \\
& > p_1(0) \left( \int_0^M e^{-\lambda a} \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da \right) \left( \int_0^M e^{-\lambda a} \beta(a, P_1) \pi(a, P_1) da \right). \tag{3.2}
\end{aligned}$$

Omitting the first term of the left-hand side and dividing by  $p_1(0)$  we get

$$\begin{aligned}
& \left( \int_0^M e^{-\lambda a} \pi(a, P_1) da \right) \left( \int_0^M e^{-\lambda a} \beta(a, P_1) \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da \right) + \\
& + \int_0^M e^{-\lambda a} \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da > \\
& > \left( \int_0^M e^{-\lambda a} \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da \right) \left( \int_0^M e^{-\lambda a} \beta(a, P_1) \pi(a, P_1) da \right) \tag{3.3}
\end{aligned}$$

which implies (3.2).

Subtracting the second term of the left-hand side we get

$$\left( \int_0^M e^{-\lambda a} \pi(a, P_1) da \right) \left( \int_0^M e^{-\lambda a} \beta(a, P_1) \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da \right) >$$



$$> \left( \int_0^M e^{-\lambda a} \pi(a, P_1) \int_0^a e^{\lambda s} \mu'_P(s, P_1) ds da \right) \left( \int_0^M e^{-\lambda a} \beta(a, P_1) \pi(a, P_1) da - 1 \right). \quad (3.4)$$

Finally observe that for  $\lambda \geq 0$  we have  $e^{-\lambda a} \leq 1$  so that

$$\left( \int_0^M e^{-\lambda a} \beta(a, P_1) \pi(a, P_1) da - 1 \right) \leq 0.$$

The first factor of the right-hand side of (3.4) is positive because  $\mu'(\cdot, P_1) > 0$ , thus the right-hand side is negative while the left-hand side is positive. This proves (3.3) which implies (3.2). ■

**Remark.** Under the assumptions on the vital rates in the theorem  $R'(P_1) < 0$  holds.

$$R(P(t)) = \int_0^M \beta(a, P(t)) \pi(a, P(t)) da$$

$$R'(P_1) = \int_0^M \beta'_P(a, P_1) \pi(a, P_1) + \beta(a, P_1) \pi'_P(a, P_1) da$$

$$\pi'_P(a, P_1) = - \int_0^a \mu'_P(s, P_1) ds e^{-\int_0^a \mu(s, P_1) ds} = -\pi(a, P_1) \int_0^a \mu'_P(s, P_1) ds$$

$$R'(P_1) = \int_0^M \beta'_P(a, P_1) \pi(a, P_1) da - \int_0^M \beta(a, P_1) \pi(a, P_1) \int_0^a \mu'_P(s, P_1) ds da$$

If  $\beta'_P(\cdot, P_1) < 0$ ,  $\mu'_P(\cdot, P_1) > 0$  then  $R'(P_1) < 0$ .

### Acknowledgements

I am thankful to Prof. Miklós Farkas for his helpful suggestions and support. Research partially supported by the Hungarian National Foundation for Scientific Research, grant numbers T029893, T031716, and a Proyecto de la Universidad de Antioquia, Medellin, Colombia.

## References

- [1] Farkas, M.: On the stability of stationary age distributions, *Appl.Math. and Comput.* **131** (2002), no.1 107-123
- [2] Farkas, M.: *Dynamical models in biology* Academic Press (2001)
- [3] Gurtin, M.E.; MacCamy, R.C.: Non-linear age-dependent populations dynamics, *Arch. Rat. Mech. Anal.* **54** (1974), 281-300
- [4] Iannelli, M.: *Mathematical Theory of Age-Structured Population Dynamics*, Giardini Editori, Pisa (1994)
- [5] Cushing, J.M.: *An introduction to structured population dynamics*, SIAM, Philadelphia, PA (1998)